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Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Quadratic Equation

y=x2+2x+1

Factorised form

y=

Pack 1

Question 1

Completed Square
form

Shape

Roots

Y -intercept

Turning Point

Axis of symmetry

© Alexander Forrest
Jan 2018
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Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Quadratic Equation |y = Pack 1

Question 2

Factorised form y = (x+1)(x+3)

Completed Square
form

Shape

Roots

Y -intercept

Turning Point

Axis of symmetry

© Alexander Forrest www.mathsmutt.co.uk
Jan 2018



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Quadratic Equation |y = Pack 1

Question 3

Factorised form y =

Completed Square

form y=(x+ 3¢ -4

Shape

Roots

Y -intercept

Turning Point

Axis of symmetry

© Alexander Forrest www.mathsmutt.co.uk
Jan 2018



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Quadratic Equation

y=x2+x-2

Factorised form

y=

Completed Square
form

Shape

Roots

Y -intercept

Turning Point

Axis of symmetry

© Alexander Forrest
Jan 2018

Pack 1

Question 4
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Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Quadratic Equation

y=x>+2x-8

Factorised form

y=

Completed Square
form

Shape

Roots

Y -intercept

Turning Point

Axis of symmetry

© Alexander Forrest
Jan 2018

Pack 1

Question 5
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Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Quadratic Equation

y=6-5x-x?

Factorised form

y=

Completed Square
form

Shape

Roots

Y -intercept

Turning Point

Axis of symmetry

© Alexander Forrest
Jan 2018

Pack 1

Question 6
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Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Quadratic Equation

y:

Factorised form

y=

Completed Square
form

y= (x+1.5)?-0.25

Shape

Roots

Y -intercept

Turning Point

Axis of symmetry

© Alexander Forrest
Jan 2018

Pack 1

Question 7

www.mathsmutt.co.uk



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Quadratic Equation |y = Pack 1

Question 8

Factorised form y =(x-1)(x+3)

Completed Square
form

Shape

Roots

Y -intercept

Turning Point

Axis of symmetry

© Alexander Forrest www.mathsmutt.co.uk
Jan 2018



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Pack 1

Quadratic Equation |y = Question 9

Factorised form y =(2 - x)(1+x)

Completed Square
form

Shape

Roots

Y -intercept

Turning Point

Axis of symmetry

© Alexander Forrest www.mathsmutt.co.uk
Jan 2018



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Quadratic Equation

Factorised form

y = (x+1)(x+7)

Completed Square
form

Shape

Roots

Y -intercept

Turning Point

Axis of symmetry

© Alexander Forrest
Jan 2018

Pack 1

Question 10
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Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Quadratic Equation

y:

Factorised form

y=

Completed Square
form

y= (x+4.5)°-0.25

Shape

Roots

Y -intercept

Turning Point

Axis of symmetry

© Alexander Forrest
Jan 2018

Pack 1

Question 11
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Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.
Pack 1

Quadratic Equation |y = Question 12

Factorised form y =(x-2)(x+2)

Completed Square
form

Shape

Roots

Y -intercept

Turning Point

Axis of symmetry

© Alexander Forrest www.mathsmutt.co.uk
Jan 2018



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Pack 1

Quadratic Equation |y = Question 13

Factorised form y =

Completed Square

form y=(x +0) +4

Shape

Roots

Y -intercept

Turning Point

Axis of symmetry

© Alexander Forrest www.mathsmutt.co.uk
Jan 2018



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Quadratic Equation

y:

Factorised form

y=

Completed Square
form

y= (Xx+6)?-4

Shape

Roots

Y -intercept

Turning Point

Axis of symmetry

© Alexander Forrest
Jan 2018

Pack 1

Question 14
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Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Quadratic Equation

y:

Factorised form

y=

Completed Square
form

y= (x+3)*-1

Shape

Roots

Y -intercept

Turning Point

Axis of symmetry

© Alexander Forrest
Jan 2018

Pack 1

Question 15
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Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Pack 1

Quadratic Equation |y = Question 16
uesti

Factorised form y =

Completed Square

form y=
Shape u
Roots Xx=-4and x=-2
Y -intercept (0, 63)
Turning Point (-8, -1)
Axis of symmetry x=-8

© Alexander Forrest www.mathsmutt.co.uk
Jan 2018



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Pack 1

Quadratic Equation |y = Question 17

Factorised form y =

Completed Square

form y=
Shape u
Roots x=-5and x =-1
Y -intercept (0,5)
Turning Point (-3.-4)
Axis of symmetry x=-3

© Alexander Forrest www.mathsmutt.co.uk
Jan 2018



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Quadratic Equation |y = Pack 1

Question 18

Factorised form y =

Completed Square

form y=
Shape u
Roots x=-2and x=-6
Y -intercept (0,12)
Turning Point (-4 ,-4)
Axis of symmetry X=-4

© Alexander Forrest www.mathsmutt.co.uk
Jan 2018



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Pack 1
Quadratic Equation |y = Question 19
uestion

Factorised form y =

Completed Square

form y=
Shape n
Roots x=-1and x=-4
Y -intercept (0, -12)
Turning Point (-4 ,4)
Axis of symmetry X=-4

© Alexander Forrest www.mathsmutt.co.uk
Jan 2018



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Quadratic Equation

y:

Factorised form

Completed Square
form

Shape

n

Roots

x=-1and x=-4

Y -intercept

(01 -4)

Turning Point

(-2.5 ,2.25)

Axis of symmetry

x=-25

© Alexander Forrest
Jan 2018

Pack 1
Question 20
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Drill Questions: Sketching Quadratics Pack 1

Use the sketch to complete the sheet.

Pack 1
Question 21

271

o

@

=

&

(-10,0)"

TP (-8.5,-2.25)

(=7.0)

t
-5

Quadratic Equation |y =

Factorised form y =

Completed Square _
form y

Shape

Roots

Y -intercept

Turning Point

Axis of symmetry

© Alexander Forrest
Jan 2018

www.mathsmutt.co.uk



Drill Questions: Sketching Quadratics Pack 1

Use the sketch to complete the sheet.

e » '0.)_

TP(-4.5,-12.25)_

Quadratic Equation |y =

Factorised form y=

Completed Square
form

Shape

Roots

Y -intercept

Turning Point

Axis of symmetry

© Alexander Forrest
Jan 2018

Pack 1
Question 22
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Drill Questions: Sketching Quadratics Pack 1

Use the sketch to complete the sheet.

TP(-2.5,0.25)

Quadratic Equation |y =

Factorised form y =

Completed Square
form

Shape

Roots

Y -intercept

Turning Point

Axis of symmetry

© Alexander Forrest
Jan 2018

Pack 1
Question 23

www.mathsmutt.co.uk



Drill Questions: Sketching Quadratics Pack 1

Use the sketch to complete the sheet.

¥
(=7.0) (4,0)

TP(-1.5, -30.25)

Quadratic Equation

Factorised form

Completed Square
form

Shape

Roots

Y -intercept

Turning Point

Axis of symmetry

© Alexander Forrest
Jan 2018

Pack 1
Question 24
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Drill Questions: Sketching Quadratics Pack 1

Use the sketch to complete the sheet.

Y
50 | 9.0)
TP(2, -49)
Quadratic Equation |y =
Factorised form y=
Completed Square _
form y
Shape
Roots
Y -intercept

Turning Point

Axis of symmetry

© Alexander Forrest
Jan 2018

Pack 1
Question 25
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Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Quadratic Equation |y =x2 + 2x + 1 Pack 1

Question 1

Factorised form y = (x+1)(x+1)

Completed Square

form y= (x+1)?
Shape u
Roots x = -1 repeated
Y -intercept (0,1)
Turning Point (-1,0)
Axis of symmetry x=-1

© Alexander Forrest www.mathsmutt.co.uk
Jan 2018



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Quadratic Equation |y =x2 +4x +3 Pack 1
Question 2

Factorised form y = (x+1)(x+3)

Completed Square

form y=(x +27-1
Shape u
Roots x=-1and x=-3
Y -intercept (0,3)
Turning Point (-2 ,-1)
Axis of symmetry X=-2

By

3 \/ NP

© Alexander Forrest www.mathsmutt.co.uk
Jan 2018



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Quadratic Equation |y =x% +6x + 5 Pack 1
Question 3

Factorised form y = (x+1)(x+5)

Completed Square

form y=(x+3) -4
Shape u
Roots x=-1and x=-5
Y -intercept (0,5)
Turning Point (-3 ,-4)
Axis of symmetry x=-3

I
N

© Alexander Forrest www.mathsmutt.co.uk
Jan 2018



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Quadratic Equation

y=x2+x-2

Factorised form

y = (x-1)(x+2)

Completed Square

y= (x+1/2°-2 "

form y= (x+0.5)%2-2.25
Shape u
Roots x=1and x=-2
Y -intercept (0,-2)
Turning Point (0.5 ,-2.25)
Axis of symmetry x=0.5

© Alexander Forrest
Jan 2018

Pack 1

Question 4

www.mathsmutt.co.uk



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Quadratic Equation

y=x% +2x-8

Factorised form

y = (x-2)(x+4)

Completed Square y= (x+1)%2-9
form
Shape u
Roots x=2and x=-4
Y -intercept ©.-8)
Turning Point (-1,-9)
Axis of symmetry X =-1

=0T

© Alexander Forrest
Jan 2018

Pack 1

Question 5

www.mathsmutt.co.uk



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Quadratic Equation

y = 6- 5x - x?

Factorised form

y =(1 - x)(6+x)

Completed Square

y = -(x+ 5/2)? +12 Va

form y = -(x+ 2.5)2 +12.25
Shape n
Roots x=1and x=-6
Y -intercept (0, 6)
Turning Point (-2.5, -12.25)
Axis of symmetry x=-25

[

© Alexander Forrest
Jan 2018

Pack 1

Question 6

www.mathsmutt.co.uk



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Quadratic Equation |y =x? + 3x + 2 Pack 1

Question 7

Factorised form y = (x+2)(x+1)

Completed Square y= (x+1.5)2-0.25

form
Shape u
Roots x=-2and x=-1
Y -intercept (0, 2)
Turning Point (-1.5, -0.25)
Axis of symmetry =-15

© Alexander Forrest www.mathsmutt.co.uk
Jan 2018



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Quadratic Equation | y =x?+ 2x -3 Pack 1

Question 8

Factorised form y =(x-1)(x+3)

Completed Square

form y= (x+1)°-4
Shape u
Roots x=1and x=-3
Y -intercept (0,-3)
Turning Point (-1.-4)
Axis of symmetry x=-1

© Alexander Forrest www.mathsmutt.co.uk
Jan 2018



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Pack 1

Quadratic Equation |y = -x?+ x +2 Question 9

Factorised form y =(2 - x)(1+x)

Completed Square |y =-(x-1/2)+2 Va

form y = - (x-0.5) +2.25
Shape n
Roots x=2 and x=-1
Y -intercept ©.-3)
Turning Point (-1,-4)
Axis of symmetry x=-1

=10

© Alexander Forrest www.mathsmutt.co.uk
Jan 2018



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Pack 1

Question 10

Quadratic Equation |y =x% +8x + 7

Factorised form y = (x+1)(x+7)

Completed Square

= 2
form y= (x+4)y°-9
Shape u
Roots x=-1and x=-7
Y -intercept 0.7)
Turning Point (-4,-9)
Axis of symmetry X =-4
| ™
g o

© Alexander Forrest www.mathsmutt.co.uk
Jan 2018



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Pack 1

Quadratic Equation |y =x?+ 9x + 20 Question 11

Factorised form y =(x+4)(x+5)

Completed Square y= (X +4.5)-0.25

form
Shape u
Roots x=-1and x=-7
Y -intercept 0,7)
Turning Point (-4.5, - 0.25)
Axis of symmetry x=-4.5
p
5 1

© Alexander Forrest www.mathsmutt.co.uk
Jan 2018



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.
Pack 1

Quadratic Equation |y = x?- 4 Question 12

Factorised form y =(x-2)(x+2)

Completed Square y=(x +02 -4

form
Shape u
Roots x=2and x=-2
Y -intercept (0,-4)
Turning Point (0, -4)
Axis of symmetry x=0

© Alexander Forrest www.mathsmutt.co.uk
Jan 2018



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Pack 1

Quadratic Equation |y =x%2+4 Question 13

Factorised form Does not factorise

Completed Square y=(x +0?2 +4

form
Shape u
Roots No real roots
Y -intercept 0, 4)
Turning Point 0, 4)
Axis of symmetry x=0

Y
1V

© Alexander Forrest www.mathsmutt.co.uk
Jan 2018



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Pack 1
Quadratic Equation |y =x? + 12x + 32 Question 14

Factorised form y = (x+4)(x+8)

Completed Square

= 2 _
form y= (x+6)7-4
Shape u
Roots x=-4and x=-8
Y -intercept (0, 32)
Turning Point (-6, -4)
Axis of symmetry X =-6
™y
10 5 N

© Alexander Forrest www.mathsmutt.co.uk
Jan 2018



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Quadratic Equation

y =x?+ 6x + 8

Factorised form

y =(x+4)(x+2)

Completed Square

form y= (x+3)p-1
Shape u
Roots Xx=-4and x=-2
Y -intercept (0, 8)
Turning Point (-3,-1)
Axis of symmetry x=-3

© Alexander Forrest
Jan 2018

Pack 1

Question 15

www.mathsmutt.co.uk



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Pack 1

Quadratic Equation =x2 + 16x + 63
a y Question 16

Factorised form y =(x+7)(x+9)

Completed Square

form y= (x+ 8-
Shape u
Roots Xx=-4and x=-2
Y -intercept (0, 63)
Turning Point (-8, -1)
Axis of symmetry x=-8

12 1

107

-]
'

=]
'

=
|

[
'

© Alexander Forrest www.mathsmutt.co.uk
Jan 2018



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Pack 1

Quadratic Equation |y =x?+6x+5 Question 17

Factorised form y =(x+1)(x+5)

Completed Square

= 2 _
form y= (x+3y° -4
Shape u
Roots x=-5and x=-1
Y -intercept (0.95)
Turning Point (-3,-4)
Axis of symmetry x=-3
™
o

© Alexander Forrest www.mathsmutt.co.uk

Jan 2018



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Pack 1

Question 18

Quadratic Equation |y =x? + 8x + 12

Factorised form y =(x+2)(x+6)

Completed Square

= 2 _
form y= (x+4y -4
Shape u
Roots x=-2and x=-6
Y -intercept (0,12)
Turning Point (-4 ,-4)
Axis of symmetry x=-4
-
A N

© Alexander Forrest www.mathsmutt.co.uk
Jan 2018



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Pack 1

Quadratic Equation |y =-x2-8x - 12 .
Question 19

Factorised form y = -(x+2)(x+6)

Completed Square

= _ 2
form y=-x+dy+4
Shape n
Roots x=-2and x=-6
Y -intercept (0,-12)
Turning Point (-4.4)
Axis of symmetry | X7~ 4
D
L NV

© Alexander Forrest www.mathsmutt.co.uk
Jan 2018



Drill Questions: Sketching Quadratics Pack 1

Complete the sheet then sketch the quadratic.

Quadratic Equation

y=-x2-5x-4

Factorised form

Y = -(cH4)(cH1)

Completed Square

y=-(x+2.5)2+2.25

form
Shape n
Roots x=-1and x=-4
Y -intercept (0,-4)
Turning Point (-2.5,2.25)
Axis of symmetry x=-25

/ N\

PV

© Alexander Forrest
Jan 2018

Pack 1
Question 20
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Drill Questions: Sketching Quadratics Pack 1

Use the sketch to complete the sheet.

Pack 1
Question 21

271

o

@

=

&

(-10,0)"

(-7.0)

TP (-8.5,-2.25)

Quadratic Equation

y=x2 +17x +70

Factorised form

y =(x+7)(x+10)

Completed Square

y= (x+8.5)-225

form
Shape u
Roots x=-7and x=-10
Y -intercept (0,70)
Turning Point (-8.5,-2.25)
Axis of symmetry =-8.5

© Alexander Forrest
Jan 2018

www.mathsmutt.co.uk



Drill Questions: Sketching Quadratics Pack 1

Use the sketch to complete the sheet.

TP(-4.5,~12.25)

1.0

Quadratic Equation

y=x%+9x+8

Factorised form

y =(x+1)(x+8)

Completed Square

y= (x+4.5) -12.25

form
Shape u
Roots x=-1and x=-8
Y -intercept (0,8)
Turning Point (-4.5, -12.25)
Axis of symmetry =-4.5

© Alexander Forrest
Jan 2018

Pack 1
Question 22

www.mathsmutt.co.uk



Drill Questions: Sketching Quadratics Pack 1

Use the sketch to complete the sheet.

TP(-2.5,0.25)

Quadratic Equation

y =-x?>-5x -6

Factorised form

y = -(x+2)(x+3)

Completed Square

y=-(x+2.5)2+0.25

form
Shape n
Roots x=-2and x=-3
Y -intercept (0,-6)
Turning Point (-2.5,0.25)
Axis of symmetry x=-2.5

© Alexander Forrest
Jan 2018

Pack 1
Question 23

www.mathsmutt.co.uk



Drill Questions: Sketching Quadratics Pack 1

Use the sketch to complete the sheet.

¥
(=7,0) (4,0)

TP(-1.5, -30.25)

Quadratic Equation

y=x>+3x-28

Factorised form

y =(x-4)(x+7)

Completed Square

y= (x+1.5)? -30.25

form
Shape u
Roots x=4and x=-7
Y -intercept (0, -28)
Turning Point (-1.5, -30.25)
Axis of symmetry =-1.5

© Alexander Forrest
Jan 2018

Pack 1
Question 24

www.mathsmutt.co.uk



Drill Questions: Sketching Quadratics Pack 1

Use the sketch to complete the sheet.

Pack 1
Question 25

Jan
50, | T [0
TP(2, -49)
Quadratic Equation |y=x? -4 x-45

Factorised form

y = (x-9)(x+5)

Completed Square

form y= (x-2)°-49
Shape u
Roots x=-5and x=9
Y -intercept (0, -45)
Turning Point (2, -49)
Axis of symmetry X=2

© Alexander Forrest
Jan 2018

www.mathsmutt.co.uk
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The Pooch Puzzles series is a collection of
printed crosswords, sudokus, word searches
and other puzzles - some educational, some
just for fun.

The Revision series is a collection of notes and
examples to help with revision.
The Drill Questions series provides material to

help improve fluency in skills.
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